Phenotype Data Analysis Plots

PhenoData day range
Analysis cutoff day
NC11 P6

2025-06-07 (Day 63)

9 — 62
62

page



P6AW

TrussNodeMaxPerStem (Def=4.0 Set=6)
= ~09Y =
%ﬁlwﬁ r (l)r/:)\ rvlggcna

- —— - ———0——— @ ——— - ———8————

| page 1

0 1 2 3 4 5

Object Number



P6AW

FruitNumAvgPerTruss (Def=15
avgl1=5.0717% avg2=na

Set=5)
PEAN_

0 5 10 15

Object Number

20 25

TrimFryit

FruitNumMaxPerTruss (Def=na Set=8)
avgl1=8.0722% avg2=na

Q

Qpaee 1

10 15
Object Number

20

25



P6AW

LfA_Q90AbsY (Def=0.04 Set=0.04)
avg1=0.07"3% avg2=na

0.10 ¢
0. 08 -
|. _____________ ’ _____ o————
0. 06 s
0.04
0. 02 A
0. 00 A
T T T T T
0 10 20 30 40 50
Object Number
NdL_Q90AbsY (Def=5 Set=5. 73)
avgl1=5. 7379% avg2=na
[ )
64 ____ 0---- ]
® -
4_
2_
O_
0 10 20 30 40 50

Object Number

FrV_avgAbsY (Def=na Set=105. 16)
aRPEIi OPhE 38t aatvg2=na

150 +
100 - & '++ ®
o
50
0 .
T T T T T
0 10 20 30 40 50

Object Number

FrV_Q90AbsY (Def=179.5 Set=179.5)
avgl1=114.2673% avg2=na

150 9
.......... PR S
100 - .
50 -
0 -
0 10 20 30 40 50

Object Number

FrD_avgAbsY (Def=na Set=59.1)
avg1=59. 176% avg2=na

¢
S, —_ ———— ]
60 P »---0 L
o
40 -
20
0_
T T T T T
0 10 20 30 40 50
Object Number
NdD_Q90AbsY (Def=18 Set=16.81)
avgl1=16.8178% avg2=na
20 °
@
O == = - o———-
15 - g
10
5_
@age1
0 10 20 30 40 50

Object Number



LfW_avgAbsY (Def=na Set=44.95)
avg1=44. 95722% avg2=na

o
60 A @
° ¢ ¢ °
0] @ TTYETTTT TTe e T
° o
20 A
0_
T T T T T
0 10 20 30 40 50
Object Number
FrD_Q90AbsY (Def=70 Set=60. 2)
avg1=60.271% avg2=na
|
60 ® o LS L
o
40 -
20 A
0_
0 10 20 30 40 50

Object Number

LfA_avgAbsY (Def=na Set=0. 06)
ROLAWOPOE136% tavig2=na

0. 100 ®
() o
0.075 4 PY o
--.-----.- -------- -
0. 050 o
() q’
0051 @
0. 000
T T T T T
0 10 20 30 40 50
Object Number
NdL_avgAbsY (Def=na Set=5.72)
avgl1=5.7278% avg2=na
6 [
™ e
4_
2_
0_
0 10 20 30 40 50

Object Number

LfL_Q90AbsY (Def=40 Set=45.1)
avg1=45.172% avg2=na

50

""" .""."".'"".""
40 &
30 -
20
10 1
O_

T T T T T
0 10 20 30 40 50
Object Number
LfL_avgAbsY (Def=na Set=40.0)
avg1=40. 0715% avg2=na
50 -
(]
® ." 4. [

40---.-.--—-.- -------------- - -
30 4 o o [ ) ..
20
10 1
Oya.geZ

0 10 20 30 40 50

Object Number



LfW_Q90AbsY (Def=30 Set=46.2)
avg1=46.2720% avg2=na

60 - ¢
[®
———————————————————— .————
40 - ¢ ]
20 +
0_
T T T T T
0 10 20 30 40 50
Object Number
NdV_Q90AbsY (Def=12.72 Set=14.3)
avgl1=14.3710% avg2=na
154 -  J— - -———Q@———-
lo [ ]
10
5_
@a;reS
0 10 20 30 40 50

Object Number

NdD_avgAbsY (Def=na Set=16. 73)
PEAW PHEnYBt ateg2=na

20 - A ®
___h.___...__a_____e___._
15 - ° o °
10
5_
0_
T T T T T
0 10 20 30 40 50

Object Number

NdV_avgAbsY (Def=na Set=12.3)
avg1=12.3717% avg2=na

e
20
o
15 e® - o o
I S A ———
10 4 ?‘ ° ® "
5_
O_
T T T T T
0 10 20 30 40 50

Object Number



20 A

P6AW-058-22 (fit failed)

BOL [0.61, 0.1, 27.62, 1.0]

30

20

10 4

P6AW-095-29 (fit failed)

T
0 20 40 60

UF

UF

30

20 -

P6AW-074NIN(fit failed)

BDL [0.65, 0.1, 21.94, 1.0] /

e

o

P6AW-087-14 (fit failed)

BOL [0.67, 0.1, 42.71, 1.0] /

P6AW-106-11 (fit failed)

30

20 ~

10 4

BDL [0.64, 0.1, 40.02, 1.0]




P6AWavg éjﬁt failed)

20 4 BDL [0.64, 0.1, 30.58, 1.0] Qf/’
o ﬂ@%/
7 /degg

I
0
oo -CI — - - S A
_1 T T T T T T T

0 10 20 30 40 50 60




PGAW

a (Def=0.56 Set=0.64)
avg1=0. 64 (fail) avg2=0.64

4
Object Number

dm (Def=2 Set=0.1)
avg1=$é%Wfﬁh“ avg2=0. 1

8 - o
6_
4_
e ——
0of--o-- B-—O————— - ———
T T T
0 2 4 6

Object Number

de (Def=5 Set=30.58)
avgl1=26. 67 (fail) avg2=30. 58

(@]
40
K| ik
O
20 +
10
0 {page 1 O
T T T
0 2 4 6

Object Number




PGAW

InitDev_dm (Def=2 Set=0.5)
avg1=0.570% avg2=0.5

PEAW
2.0
1.5
1.0
0.5 +——@——@——@——9———8—— - ——-
0.0 -

0 2 4 6

Object Number

InitD

InitDev_de (Def=5 Set=35.56)
avg1=35.56"0% avg2=35. 56

35 -

30 A

25 -

20

15 1

10 4

page 1

0 2 4 6

Object Number



P6AW-058-22

Linear [0.45, 5.01, -11.09, 0.99]
L
=]
-1 T T T
0 20 40 60
P6AW-095-29
Linear [0.49, 5.73, -11.81, 0.99]
20 +
h /
0
5 0p=—————=—= -Xflltjﬁ\:ftxl:jtl-- 5
_1 T T T T
0 20 40 60

PGAN-074-9
Linear [0.5, 5.63, -11.29, 1.0]
20 N &
@8‘
10 - -
0
0 J I — — P [, W— S—
-1 T T T T
0 20 40 60
P6AW-106—-11
Linear [0.46, 3.68, -8.08, 0.99]
20 -
@'/
10 1 //Z‘
0
y%&L________:3\:n:f1;;!:__
_1 T T T T
0 20 40 60

P6AW-087-14

Linear [0.49, 3.32, -6.74,

20 A
10 e@gz
- /‘/‘g
0
0-———————-———23‘:#}QR:;[:——
_1 T T T T
0 20 40 60



PQWvg

25 A

20 ~

15 4

10

Linear [0.47, 4.76, —-10.02,

1.0 /




P6AW

a (Def=0.42 Set=0.47)

avg1=0.éggﬁﬁ ﬁ%ﬁf:0'47~3%

0.5 A

0.4+

0.3 -

0.2~

0.1+

0.0 -

page 1

0 1 2 3 4 5 6

Object Number




By Plant/Organ Age

LN

By Start Date

0

1.

0

-1

.0

-1

60

50

40

30

20

10

60

55

50

45

40

35

30

25



UF

P6AW-058-22

150

100 -

50

Linear [3.43, -8.22, 2.4, 1.0]

40
P6AW-095-29

200

150

100 -

50

Linear [3.88, -12.6, 3.25, 1.0]

P6gW+074-9 P6AW-087-14
200 1 . 200 - .
Linear [3.92, -11.42, 2.91, 0.99] Linear [4.07, -17.65, 4.34, 0.99]
150 ~ 150 - /
100 - 100 -
50 + 50
0 ?//@ 0
0f=——— ;'/‘BYFM - L 0
-1 T T T -1 T T T
0 20 40 60 0 20 40 60
P6AW-106-11
200 ~ Linear [4.06, —9.73, 2.4, 1.0] f
150
100 -
50 +
0
opaEe
_1 T T T T
0 20 40 60



P6AW

a (Def=3 Set=3.99)

avg1ﬁgﬁgaf%%+ﬁvg2:na

. '____t __________ R
o

3

2 4

1 4

0 - page 1
T T T T T

0 1 2 3 4 5

Object Number




P6AW

By Start Date
1.0

_10 T T T T T

20 30 40 50 60

1.0

0.5 -

-0.5 A

_10 T T T T T
20 30 40 50 60

StH

By Plant/Organ Age

1.0

_10 T T T T T T

1.0

0.5

-0.5 A

_10 T T T T T T




UF

P6AW-058-22

P6RUN-074-9

P6AW-087-14

Linear [0.18, —0.84, 4.7, 0.99] /

Linear [0.18, -0.72, 3.9, 0. 99]/

Linear [0.17, -0.79, 4.76, 0.99] ;/

/4

P6AW-095-29

2I0 40 60
P6AW-106-11

Linear [0.18, -0.79, 4.3, 0.99] /
/

Linear [0.19, -0.98, 5.16, 1.0] /

4




PQAQVK?vg

Linear [0.16, —0.4, 2.44, 0.99]




P6AW

a (Def=0.14 Set=0.16)

avg1:0.$§gﬁﬁ ?Z§f=0.16~6%

0. 20 +
————;——-+. ———————————————————
___________ & ——-
0.15 +
0.10 +
0. 05 q page 1
0. 00 +
T T T T T
0 2 3 4 5 6

Object Number




P6AW

TsN

By Start Date By Plant/Organ Age
il
_1 0 T T T T T T T T _1 . 0 T T T T T T
25 30 35 40 45 50 55 60 0 10 20 30 40 50 60
1.0 1.0
0.5+
0, 0 2 e e e
-0.5 +
_1 0 T T T T T T T T _1 0 T T T T

25 30 35 40 45 50 55 60 0 10 20 30 40 50 60



page 1

P6AW-058-22T1 (fit failed)

o
L 4

27.0 27.5 28.0 28.5 29.0

P6AW-058-22T4

Linear [0.64, -19.21, 30.09, 0.97]

0 2I0 4I0 60
P6AW-074-9T3 (fit failed)

42 43 44 45 46

PeANLD58-22T2

Linear [0.49, -6.58, 13.52, 1.0] ?[//I

0 10 2I0 3I0 40 50
P6AW-074-9T1

Linear [0.65, -6.34, 9.69, 0.99]

0 10 20 30 40
P6AW-074-9T4

Linear [0.48, -13.06, 27.34, 0.99]

P6AW-058-22T3

10

Linear [1.21, -30.65, 25.31, 0.93]

10 2I0 3I0 40 50
P6AW-074-9T2

Linear [0.63, -10.06, 15.9, 0.99]

1 I0 2IO 3I0 4IO 50
P6AW-074-9T5 (fit failed)

3.0+

2.5 -

2.0 A

1.5

1.01©

0.5 A

a
L 4

0.0



page 2

P6AW-087-14T1

10.0 1 Linear [1.03, -12.17, 11.77, 1.0]
7.5 - /
I@
5. 0 . /:
i
2.5 /J
0.0 £
T3 | R N A— —
_1 T T T T
0 10 20 30 40
P6AW-087-14T4
6 - Linear [0.43, -13.65, 32.12, 0.99]
4 .
i /
. /
L (e e e e e e e e e e e o I
_1 T T T T
0 20 40 60
P6AW—095-29T3
8 1 .
Linear [0.56, -12.52, 22.19, 0.99]
6 .
G
4 1 /
2 (
/
0
B e e e —\ -
_1 T T T T T T
0 10 20 30 40 50

PeANLD87-14T2

Linear [0.64, -12.49, 19.53, 1.0]
41 ;
@l
2 4
d
m J
0 R S S D — e —
_1 T T T T T
0 10 20 30 40
P6AW-095-29T1
Linear [1.17, -12.69, 10.82, 0.99] /
10 -
;. /
0
0 i T A [ D — _Z__\__.____
-1 T T T T
0 10 20 30 40
P6AW-095-29T4
8
Linear [0.48, -13.06, 27.34, 0.99]
6 -
b
4 4
7
2 /zf
0
0= e e e
-1+ T T T
0 20 40 60

P6AW-087-14T3

Linear [0.43, -10.61, 24.67, 0.99]

/

20 40 60

P6AW-095-29T2

Linear [0.58, -8.2, 14.11, 1.0] /
»

b

1 I0 2I0 3I0 4I0
P6AW-095-29T5 (fit failed)




P6AW-106-11T1

10. 0 -

7.5 A

5.0 -

2.5 4

Linear [1.02, -11.74, 11.55, 0.99]

0.0

20
P6AW-106-11T4

10

Linear [0.95 -27.71, 29.18, 1.0]

peANNo6-11T2

10.0 4

7.5

5.0 4

2.5

Linear [1.13, -20.76, 18.43, 0.97]

0.0

L
jun

0_

[T
)

P6AW-106-11T3

Linear [1.08, -26.98, 24.94, 0.99]

10 A
5_  §
/
)

0
QJF———————e e == T —— ——
_1 T T T T T T

0 10 20 30 40 50



P6AW

a (Def=0.45 Set=0. 64)
avgl ZB'RGA ~4é’zla"\fvg2:na

T
5 10

Object Number




P6AW

FrN

By Start Date By Plant/Organ Age
1.0 1.0
0.5+ 0.5+
00_-%___-—-/_“&--_/“__ ------- Te— T ] 0 .0_ ---------------------- ﬂ_g“ - === = -
-0. 5 + -0.5 +
_10 T T T T T T T _10 T T T T
30 35 40 45 50 55 60 0 10 20 30 40
1.0 1.0
0.5+
0, B 2 e e
-0.5 +
_10 T T T T T T T _10 T T T T

30 35 40 45 50 55 60 0 10 20 30 40



page 1

UF

P6AW-058-22T1Fr1

1.5

1.0 4

0.5

0.0

BetaS [1.59, 25.0, 16.11, 13.45, 1.0] ¢

0 Zb 4b 60
P6AW-058-22T2F r5

0.4 A

0.2 A

BetaS [0.49, 40.0, 11.7, 8.49, 1.0] /

0.0

.12

0 20 4b Gb
P6AW-058-22T4Fr1 (fit failed)

.10

. 08 -

. 06

. 04 A

.02 A

O

)

.00

52.5 55.0 57.5 60.0 62.5

P6AW-058-22T1Fr5

BetaS [0.93, 25.5, 16.02, 10.3, 1.0] g
0.8 &
0.6 1 p
y
0.4 - ’)Z/5
0.2 A (jaz?go
0.0 —
0 [ § N R — g N —
_1 T T T T
0 20 40 60
P6AW-058-22T3Fr1 (fit failed)
O
. 020 +
.015
.010
@)
. 005
(¢
. 000 T T T T T T
46 47 48 49 50 51
P6AW-058-22T4Fr5 (fit failed)
O
.025
. 020 +
.015
.010 -
.005 +©
. 000 T T T T T

58 59 60 61 62

P6AW-058-22T2Fr1 (fit failed)

0.014 ~

0.012 ~

0.010 A

0. 008 -

0. 006 ~

0. 004 ~

0. 002 -

Q

O

@)

QO

0. 000

T T
34 36 38

P6AW-058-22T3Fr5 (fit failed)

40

0. 14 -

0.08
0. 06 -

0. 04 -

()

O

O

@

Sb 5% Gb
P6AW-074-9T1Fr1 (fit failed)

0.010 A

0. 008 -

0. 006 ~

0. 004 -

0. 002 -

0

®

0. 000

25.0 25.5 26.0 26.5 2

7.0




UF

P6AW-074-9T1Fr5

0.4 -

0.2 4

0.0

N .
J]

/

&

/4

y
BetaS [0.48, 25.5, 14.74, 8.25, 1.0]

0 20

4I0 6I0
P6AW-074-9T3Fr1 (fit failed)

. 08 -

. 06

.04

.02 4

.00

)

0]

0]

Q
T

42 44 46 48 50
P6AW-087-14T1Fr1 (fit failed)

.14 4

.12 1

.10 A

. 08 -

.06

. 04

.02

.00

o

0

0

0

0

0

0.

.014 4

. 012 ~

.010 4

. 008 -

. 006 -

. 004

P6AW-074-9T2EY 1

(fit failed)

.002 -9

.000 -—

O

@)

34

35

P6AW-074-9T3Fr5

36 37

38

(fit failed)

. 25 A

. 20 ~

.15~

.10

. 05 ~

00 =

@)
(@)

T
50

T
95

P6AW-087-14T1Fr5

60

0.6 -

0.4 A

0.2 A

BetaS [0.63, 27.5,

15.38, 8.48,

o
1.0]
o)
/ 4
)]

UF

P6AW-074-9T2Fr5

0.6 7 BetaS [0.65, 38.5, 11.62, 11.95, 1.0] ,"
©®
0.4 -4
o
0.2 of
f@l
0 i N N ——— e ———
_1 T T T T
0 20 40 60
P6AW-074-9T4Fr5 (fit failed)
0)
.08
.06
.04 +
)
.02
)
. 00 T T T T T
54 56 58 60 62
P6AW-087-14T2Fr1
BetaS [0.72, 35.43, 14.84, 7.57, 1'0],$"
0.6 "
o]
0.4 7/
®
0.2 ~ 2
¢
0.0 a”
00 -G S FE——
_1 T T T T
0 20 40 60



P6AW-087-14T2Fr5 (fit failed)

.35 A

.30

. 25 A

. 20 -

.15 1

.10 A

. 05 -

0

@
el ©

(]

.00

55 60
(fit failed)

4I5 5I0
P6AW-087-14T4Fr 1

0. 020 ~

. 015 +

.010 ~

. 005 -

. 000

O

A
W

T
54

5I5 5I6
P6AW-095-29T2F r 1

5|7
(fit failed)

58

. 030 ~

. 025 -

. 020 ~

. 015 +

. 010 -

. 005 ~

O

@

a
page 3

)

. 000

34

36 38

40

0.0

0.0

0.0

0.0

0.0

. 175 ~
. 150
. 125
. 100 -
. 075 ~
. 050 ~
. 025 ~

. 000

PeAW-087-14F8Mr1 (fit failed)

020 ~

015 -

010 -

005 ~

o

0]

000

46.0

46I. 5 47I. 0 47I. 5 48I. 0
P6AW-095-29T1Fr1 (fit failed)

0]

@)

® O

3I0 3I5
P6AW-095-29T2F 5

0.6~

0.4 -

0.2~

0.0

)

J

BetaS [0.68, 33.77, 15.62, 5.43, 1.0]
P

. 150 4

. 125 4

. 100 -

. 075 4

. 050 A

. 025 ~

. 000

P6AW-087-14T3Fr5 (fit failed)

O

o

52.5

55.0 57.5 60.0

P6AW-095-29T1Fr5

62.5

0.6 A

0.4 -

0.2 A

BetaS [0.66, 23.5, 18.28, 7.06, 1.0]

0.0

2I0 4I0 6I0
P6AW-095-29T3Fr1 (fit failed)

0.5

0.4 A

0.3 -

0.2 A

0.1 A

O

0.0



page 4

P6AW-095-29T3Fr5 (fit failed)

0. 30
0. 25 -
0. 20 -
0. 15 -
0.10

0.05

0.00

o

@
a (0]

Sb 5% Gb
P6AW-095-29T5Fr1 (fit failed)

(]

o

5% 59 Gb 61
P6AW-106-11T2Fr1 (fit failed)

62

0. 006 ~

0. 005 ~

0. 004 ~

0. 003 ~

0. 002 ~

0

o

0.001 +@

0. 000

36 37 38 39 40

P6AW-095-29F4Mr1 (fit failed)

.10

. 08 4

. 06

. 04

. 02

O

Q)

.00

0]

54 56 58 60 62

P6AW-106-11T1Fr1 (fit failed)

.14 4
.12 4
.10
. 08 -
. 06
. 04 -

.02

@)

O

O

O

e ©)

00

T T T T
27.5 30.0 32.5 350 37.5

P6AW-106-11T2Fr5

0.6

0.4 -

0.2 A

BetaS [0.58, 40.06, 10.97, 7.9, 1.0]’60'

o o o e —— ]

P6AW-095-29T4Fr5 (fit failed)

0.08 >
0. 06
0.04
@
0.02
® @
0.00 | | | |
52.5 55.0 57.5 60.0  62.5
P6AW-106—-11T1Fr5
0.6 - BetaS [0.66, 25.5, 15.73, 8.85, 1.'9] —
@l

0.4 o

0.2 A /ZZP

0.0 Mﬁ/
T LS S — — —

_1 T T T T

0 20 40 60
P6AW-106-11T3Fr1 (fit failed)

0.4 - =

0.3 -

0.2 -

O
0.1
O
0.0 e @ .
45 50 55



P6AW-106-11T3Fr5 (fit failed) P6AW-106-11F4Fr 1 (fit failed) P6AW-106-11T4Fr5 (fit failed)

o) O 0.10 )

0.10 1 0.10

0. 08 -
0. 08 - 0. 08 -

0. 06 -
0. 06 - 0. 06 -

page 5
0.04 . 0. 04 - 0047 e
O
0. 02 - 0. 02 - 0. 02 1
(@)
O

0.00 la . . . 0.00 -2 . . — 0,001+ . . . .

52.5 55.0 57.5 60.0 62.5 52 54 56 58 54 56 58 60 62



PGAW

Ymax (Def=1 Set=0.65)
avg1=0. 65" 13% avg2=na

1.5 1 ¢
1.0 ®
__________ #—.———.—.—-.————
0.5 + ® o
0.0~
0 2 4 6 8 10 12

Object Number

de (Def=15 Set=8.37)
avgl1=8.37721% avg2=na

It

0] ¢

0 2 4 6 8 10 12
Object Number

tb (Def=na Set=na)
avgPBAW AY avg2=na

40 e o
® 9
30 -
————————— .————————————
[ ) PY [
20 4
10 4
0_
0 4 6 8 10

Object Number

12

20

15---+--+----¢---+-¢--.-¢-+----
° ¢ °

10 4

dm (Def=18 Set=15. 38)
avg1=15.38"15% avg2=na

0 2 4 6 8 10 12

Object Number



FrVv

By Start Date By Plant/Organ Age

.91 0.5

P6AW

1.0

N e T o 0.0 === e ——————

-0.5 A

30 35 40 45 50 55 60 0 5 10 15 20 25 30 35

1.0

0.5

0 0Dage 2
-w "pr—_ . N e et e e R ey R ey ey ey iy D ——

-0.5 A

30 35 40 45 50 55 60 0 5 10 15 20 25 30 35




P6AW-058-22L12 (fit failed)

T 8
1.0+ f‘{’
BetaS [1.25, 27. o 6.94, 8.06, 0.99]
0.5 - / U
0.0 -
0f——mmmmmmmmm e x\-/-—--
_1 T T T T
0 20 40 60
P6AW-058-22L19 (fit failed)
0 6 - O
0.5 A
0.4715
0.3 A
0.2 A
0.1+
0. 0 T T T T T
58 59 60 61 62
P6AW-074-9L10
1.5
:33@99-0.:9-.
/D(
1.0~
BetaS [1.37, 4.5, 12.19, 5.04, 0.99]
0.0 —t
0 [ A —

P6AN-058—22iTf5 (fit failed)

0.7 A o
0.6 A
0.5
0.4 -
0.3 A
0.2 A

0.1 1

0.0

4I5 5I0 5I5 6I0
P6AW-058-22L6 (fit failed)

O(\F@QQQO @ -
7e

‘ﬁﬂ

1.0 A 3

BetaS [1.36, 2.5, 3.66, 13.51, 0.97]
0.5 1 /

0.0 +—=
oo <Cik\_._r__________"__
_1 T T T T
0 20 40 60
P6AW-074-9L13
2.0 A g"a'ér 2.0
1.5 - f
1.0- BetaS [1.98, 27.5, 3.77, 10.24, 0.99]
0.5 A ,'
0.0 4
0————————-———————\‘1—’———
_1 T T T T
0 20 40 60

P6AW-058-22L18 (fit failed)

0.7 -
0.6
0.5 -
0.4 -
0.3 -
0.2~

0.1+

O

0.0

o
L 4

O

54

5I6 5I8 6I0
P6AW-058-22L9 (fit failed)

62

1.5

1.0 -

0.5 A

4

£
BetaS [1.74, 13.0, 6.

J\l‘o"cfﬂé@-@ 2O

75, 10.06, 0.97]

2I0 40 6I0
P6AW-074-9L16 (fit failed)

2.0 A

1.5 4

1.0+

0.5 -

) @

0.0

45 50 55 60




P6AW-074-9L19 (fit failed)

O O
.50 + O
0
.25 1
O 0
.00 1 0
.15 1@ 0
.50 0
.25 1 0
00 T T T T o
52.5 55.0 57.5 60.0 62.5
P6AW-087-14L10 (fit failed)
ef)e
2.0 e =
«®
1.5+ C
1-0_ 06
0.5 - /
BetaS [2.09, 17.78, 3.6, 16.54, 0.96]
0.0 £
0 fr e e }k—\—l—l_——
_1 T T T T
0 20 40 60
P6AW-087-14L18 (fit failed)
1)
0. 8 A
0.6 1 L.
0.4+
O
0.2 - "
oD
00 T T T T T

54

56 58 60 62

PEAN-074-9tDD (fit failed)

.35

.30 A

. 25 A

.20 A

.15~

.10 A

. 05 ~

@)

.00

()

58

59 60 61 62

P6AW-087-14L13 (fit failed)

O

o
v

o

45 5b 5% Gb
P6AW-087-14L7 (fit failed)

00 ®e
O@@S‘Q' —
)/3
p 0

e v |
BetaS [1.09, -0.0, 8.73, 5.23, 0.84]

P6AW-074-9L7 (fit failed)

@.D-O. e _
1,00 - oo
0.75 - A
BetaS [1.08, -8.0, 9.88, 14.25, 0.96]
0. 50 A yo 4
/0
0. 25_ ’o'
0. 00 p——"
PO L {L/\‘ T
_1 T T T T
0 20 40 60
P6AW-087-14L16 (fit failed)
1.0 S
® ®
®
0. 8 A
0.6
0.4 -
@
0.2 A
0.0 T T T
50 55 60
P6AW-095-29L10
1.5_ ﬁ.@.g?.o- .
q
1.0 4
BetaS [1.43, 18.5, 6.81, 5.98, 0.98]
}J
0.5 6¢
0.0 -
wogpAsel __/T..F__________"__
_1 T T T T
0 20 40 60



page 3

2.0

1

1

5_

0.5 A

P6AW-095-29L13 (fit failed)

e GQ-@.@-.
[‘ i

J

BetaS [1.89, 19.5, 7.52, 8.44, 0.96]

_______________ —

0 Zb 4b Gb
P6AW-095-29L22 (fit failed)

@)

0]

58 59 Gb 61 62
P6AW-106-11L13

o

p:

BetaS [1.18, 29.18, 3.6, 14.64, 0.98]

UF

P6AWN-095-28iTf'6 (fit failed)

e} O
0.8 A
()
@]
0.6 1 —
(@)
0.4
0.2 1
00 T T T T
45 50 55 60
P6AW-095-29L7 (fit failed)
(©)
i _ e — @
.00 OCFD@OG‘
.75 )/AT
BetaS [1.0, 3.0, 8.29, 9.99, 0.97]
.50 g
0
.25 - /
.00 44—
0 fp———————— {—\-\: T_"
_1 T T T T
0 20 40 60
P6AW-106-11L16 (fit failed)
1.0 1 o
O
@
0.8 A
@
0.6 - ~
(@]
0.4
O
0.249
00 T T T T
45 50 55 60

P6AW-095-29L19 (fit failed)

1.2

1.0 -

0.8~

0.6

0.4+

0.2 -

Q)

0.0

]
@

52.5

55.0

57.5 60.0 62.5

P6AW-106-11L10 (fit failed)

1.5 4

1.0 A

0.5 -

(ﬁFGQKlQm

_____________ -

T
20

T T
40 60

P6AW-106-11L19 (fit failed)

0.6 -

0.5 A

0.4+

0.3+

0.2+

0.1+

@)

O

0.0

52.5

55.0

57.5 60.0 62.5



P6AW-106-11L22 (fit failed)

0.8

0.6

0.4 A

0.2 A

O

@)

0.0

58

59

60

61

62

PeAWN-106-11TA (fit failed)

1.5

1.0 -

0.5 A

(©]

BetaS [1.43,

L gl en O ®
Y ramil

0.0, 7.19, 7.7, 0.98]




PGAW

Ymax (Def=1 Set=1.4)
avgl=1.4725% avg2=na

| 0
2.0 o o
® ®
1-5‘___5 ____________ Qg —— O
© o
1.0 © 0 4
0.5
0.0 ~
0.0 2.5 5.0 7.5 10.0 12.5 15.0
Object Number
de (Def=12 Set=10.02)
avg1=10. 02736% avg2=na
15

]
T

0 Rpge 1

2.5

T T T
5.0 7.5 10.0 12.5

Object Number

0.0 15.0

tb (Def=na Set=na)
avgRGAWD158A avg2=na

30 4
® o
(O]
201 - d_L_L I O T B
O.o_ ®
10 A
o
(@]
(s 0] 0]
0.0 2.5 5.0 7.5 10.0 12.5 15.0

Object Number

dm (Def=12 Set=12)
avgl1=5.29776% avg2=na

12.5 4

10.0 4

7.5 1

5.0 1

2.5

0.0 -

() o

+

P

0.0

2.5

5.0 7.5 10.0 12.5

Object Number

15.0



P6AW

By Start Date

1.0

0.5 -

_0.5_

-1.0 — T

N Y5 s

30 35

1.0

40

45

50

55

60

0.5 -

0.0+ --

_0.5_

-1.0 —l

+

T

+

30 35

40

45

50

55

60

LfA

By Plant/Organ Age

1.0

0.5

-0.5 A

-1.0

0.0 Fmmmmm—mm .._WE'L A

50

1.0

0.5

0.0%

-0.5 A

-1.0

50




FI_dm (Def=5 Set=5.08)
avg1=5.08"17% avg2=5. 257 16%

o
10 ®
o
=
S ® co 0y © o ©
a 5_-...-.-.-.-“.-&.-.-.-‘.-‘.*-.-.‘.4
o o Y .0
0 -
T T T
0 10 20 30
Object Number
FrV_de (Def=15 Set=8.37)
avgl=na avg2=na
1.0
0.8 4
0.6
0.4 4
0.2 A
0.0 T T

0.0 0.2 0.4 0.6 0.8
Object Number

1.

FI_de (Def=5 Set=5.08)
avg1=5.P8AN Plaeg2=5. 25" 16%

[
10 o
o
® co ®o® o ¢ .
37 ) ® Y o900
O_
T T T
0 10 20 30
Object Number
FrN_a (Def=0.45 Set=0. 81)
avgl1=0. 81732% avg2=0. 86" 13%
o
® )

1.04 ® ¢ o *

18— —— @ __—_———-————--—-=8g -

o @ o
0.5 - °
®

0.0

0 10 20 30

Object Number

FrV_dm (Def=18 Set=15. 38)

avgl=na avg2=na

Object Number

.8 1
.6 1
.4 1
.2 1
T T T T
0.0 0.2 0.4 0.6 0.8 1.
Object Number
FSDdevStage (Def=0.01 Set=0.15)
avg1=0. 067109% avg2=0. 05" 139%
.3 1
.2
11 @
=== ==0=c==@======= ==
& S > == =
08— S ——2
0 10 20 30

0



FGDdevStage (Def=0.7 Set=0.7)
avgl=na avg2-na

0.0

0.2

T T
0.4 0.6 0.8

Object Number

FHDdevStage (Def=1.5 Set=1.5)
avgl=na avg2=na

1.

0.0

0.2

T T
0.4 0.6 0.8

Object Number

1.

0

FMBDdevStage (Def=1.3 Set=1.3)
PEAYPleg2=na

1.0

0.8 -

0.6

0.4+

0.2~

0.0

0.0

0.2

T T
0.4 0.6 0.8 1.

Object Number

NNgen (Def=10 Set=8)
avgl1=8.070% avg2=7.8

(pape 2

10 20 30
Object Number

1.0

FMEDdevStage (Def=1.8 Set=1.8)
avgl=na avg2-na

0.8 -

0.6 1

0.4~

0.2~

0.0

0.0

0.2

T T
0.4 0.6 0.8

Object Number

1

0



LfA: avg vs. d at each age group
age=15
—4— avg
0. 035 - 0
0. 030 - 0
0. 025 ~
0
0. 020 -
0
0.015 ~
0
0.010 ~
35 40 45 50 55 60
d
age=25
0. 08 +
—4— avg 0
0. 07 A
0
0. 06
0. 05 0
0.04 0
page 1
0. 03 + 0
0.02 +
0
30 35 40 45 50 55 60

age=20
.06 - = ave
. 05
. 04
.03 A
.02
30 35 40 45 50 55 60
d
age=30
. 08 - —4— avg
.07 4
. 06
.05 4
. 04
.03 4
25 30 35 40 45 50 55 60
d




page 2

. 040

. 035

. 030

. 025

. 020

. 015

LfA: model est vs obsOv@Q@50

. 045 -

g50
est

L

16 18 20 22

age

24

26 28




DeltaTypeAbbr=GrpByAge

P6AW LfA: D 5d LfA
DeltaTypeAbbr=GrpByDay

10 A
—b—  pcrDelta_avg 40 —4—  pcrDelta_avg
pcrDeltaAdj avg @ pcrDeltaAdj_avg
5 30 -
1 20 -
0 [ T T S A D . S NN .-~
10 1
-5 - I} O e et e o S
-10 &
-10 4 -20
15.0 17.5 20.0 22.5 25.0 27.5 30.0 30 40 50 60
d d

page 3

DeltaTypeAbbr=WeiAvgByD

40 —4— porDelta_avg
pcrDeltaAdj avg
20 -
0 | s s\ s — ]
_20 -
30 40 50 60
d




P6AW LfA: D_15d_LfA

DeltaTypeAbbr=GrpByAge DeltaTypeAbbr=GrpByDay DeltaTypeAbbr=WeiAvgByD
4 80 4
—b—  pcrDelta_avg 80 —4—  pcrDelta_avg
pcrDeltaAdj avg 60 - | pcrDeltaAdj avg 60 -
40 - X 40 -
20 A 20 -
_____________________________ O] page 4 S SR SIS W PSP S
~20 A 1 | 201 —4—  porDelta ave $ ,
—40 - —40 - pcrDeltaAdj avg
15.0 17.5 20.0 22.5 25.0 27.5 30.0 30 40 50 60 30 40 50 60



DeltaTypeAbbr=GrpByAge

P6AW LfA: D Q50 LfA
DeltaTypeAbbr=GrpByDay

30 - —4—  pcrDelta_avg 40 4
pcrDeltaAdj avg |
20 - ] 20 4
10 QfF————fm e == 1
Orr=——"T7T"""1—"7T"" T 717 20 7 —+—  pcrDelta_avg
pcrDeltaAdj avg
15.0 17.5 20.0 22.5 25.0 27.5 30.0 30 40 50 60
d d

page 5

DeltaTypeAbbr=WeiAvgByD

40 -

20 -

_20 .

——

pcrDelta_avg
pcrDeltaAdj _avg

30

40 50

60



DeltaTypeAbbr=GrpByAge

P6AW LfA: D Est LfA
DeltaTypeAbbr=GrpByDay

150 S
80 - —b—  pcrDelta_avg —4—  pcrDelta_avg
pcrDeltaAdj avg & | 1251 | pcrDeltaAdj avg
60 n ] 100 i |
75 4
40 -
50
20 - 25
LI e e e B st ==
0 [ S S TN [ ——— E— E— T .=
15.0 17.5 20.0 22.5 25.0 27.5 30.0 30 40 50 60
d d

page 6

DeltaTypeAbbr=WeiAvgByD

150

125 -

100 1

75

90 -

25 -

—4—  pcrDelta_avg
pcrDeltaAdj avg




LfA: sfDem

—@— sfDem

1.50
1.25 4
I o e e e e e
.75 A
.90 A

page 7

15 20 25 30 35 40 45 50



59 -




age=15
12 4
—4— avg
11 4
10
9_
8_
T T T T
30 40 50 60
d
age=30
18 - —4— avg
16
14 -
12 A
T T T T
30 40 50 60
d

NdD: avg vs. d at each age group
age=20

16 -
—4— avg
14
12
T T T T T T
35 40 45 50 55 60
d
age=35
184 —4— avg
16 -
14 4
12
T T T T
30 40 50 60
d

page 9

age=25

18

16

14

12

18

16

14

12

10 -




page 10

NdD: model est vs obsOv@Q50

16

14 1

12

_—

10

20

25

age

30

35

40




P6AW NdD: D_5d_NdD

DeltaTypeAbbr=GrpByAge DeltaTypeAbbr=GrpByDay DeltaTypeAbbr=WeiAvgByD
—4—  pcrDelta_avg & —4—  pcrDelta_avg 4 —4—  pcrDelta_avg
pcrDeltaAdj avg f l 10 4 4 pcrDeltaAdj avg 10 - L pcrDeltaAdj avg

5 4 5 -
0 e o e N
¥ page 11 OfF—— e e
____________________________ -5
15 20 25 30 35 40 30 40 50 60 30 40 50 60



DeltaTypeAbbr=GrpByAge

P6AW NdD: D_15d NdD
DeltaTypeAbbr=GrpByDay

40
201 30 - 8
10 + 20 A
o+t b L] 10 ~
0 [ S S T TSN ..,
=101 o —4— pcrDelta_avg —4—  pcrDelta_avg
pcrDeltaAdj _avg | —10 1 pcrDeltaAdj _avg 1
15 20 25 30 35 40 30 40 50 60
d d

page 12

DeltaTypeAbbr=WeiAvgByD

40 A
30 A
204 —+— pcrDelta_avg
pcrDeltaAdj avg
10 1
0 1]




P6AW NdD: D_Q50_NdD

DeltaTypeAbbr=GrpByAge DeltaTypeAbbr=GrpByDay DeltaTypeAbbr=WeiAvgByD
—4—  pcrDelta_avg 2 . |
pcrDeltaAd]j_avg 0L A L I | page 13 g Y P RO . A " +

T I T T T -10 - . -10 A
=20 1 g -20 -
-30 1 —4— pcrDelta avg =30 + —4— pcrDelta_avg

| pcrDeltaAdj _avg | pcrDeltaAdj avg
15 20 25 30 35 40 30 40 50 60 30 40 50 60



P6AW NdD: D_Est_NdD

DeltaTypeAbbr=GrpByAge DeltaTypeAbbr=GrpByDay DeltaTypeAbbr=WeiAvgByD
195 |t —4—  pcrDelta_avg —b—  pcrDelta_avg 150 —4—  pcrDelta_avg
& pcrDeltaAdj_avg | 150 4 pcrDeltaAdj avg 195 pcrDeltaAdj_avg
100 +
| o 100
75 100 -
8 75 - ps
50 50 50 -
25 o ® 25 ]
O rm—————————— e e e 0 el e e e —————— page 14 0 el e e ————— e
15 20 25 30 35 40 30 40 50 60 30 40 50 60



NdD: sfDem

—@— sfDem

. 25 A

page 15

0
0. 50 A
0
0

. 00 T T T T T T T T
15 20 25 30 35 40 45 50




95 — page 16

27 -
29 -
31 -
33 -
35 -
37 -
39 -
4
43
45
47
49 -

51 -
53 -
55 -
57 -
59 -

40

- 20




dStH: avg vs. d

3.8 A —4—  avg

20 30 40 50 60

page 17



page 18

dStH: obsAvg vs obsOv@Q50

45 8 , s
s e
i/l//‘\/

30

40

50

60




page 19

dStH: D_b5d_StH

——

pcrDelta_avg




page 20

dStH: D_15d_StH

30 7 —4—  pcrDelta_avg

20 30 40 50 60



page 21

dStH: D_Q50_StH

—

pcrDelta_avg

20

30

40

50

60




page 22

dStH: D_Est_StH

—4—  pcrDelta_avg

80 -
60
40 -
f— :
20 -
() o o S o
20 30 40 50 60




dStH: sfDem

—@— sfDem

1.50

o

.75 A

o

.50 A

23
P28 8. 00 | | | | |

10 20 30 40 50




15 - page 24

17 -
19 -
21 -
23 -
25 -
27 -
29 -
31 -
33 -
35 -
37 -
39 -
41 -
43 -
s
47 -
49 -
51 -
53 -

57 -
59 -

40

20




organ|D=TO1

50 —}— FrOlavg

FrO5avg
40
30 A
20 -
10 +
0_

15.0 17.5 20.0 22.5 25.0 27.5 30.0
age
organ|D=T04

12.5
10. 0 4
7.5 A
5.0
2.5

0.0 4 —}— FrOtlavg

' FrO5avg

15 16 17 18 19 20
age

FrV: FrO1 vs Fr05 at each truss

organ|D=T02 organ|D=T03
100 A
—}—  FrOlavg —}—  FrOlavg
80 - FrO5avg FrO5avg
80 -
60
40 -
20 +
0 ] 0 - T T T
15.0 17.5 20.0 22.5 25.0 27.5 30.0 15.0 17.5 20.0 22.5 25.0 27.5 30.0
age age
organ|D=T05
1.0
9.6 1 —— FrOlavg
FrO5avg 0 84
9.4 -
0.6 -
9.2 -
0.4 -
9.0 A
0.2 A
8.8
page 25
T T T T T T T 0 0 T T T T
14.25 14.50 14.75 15.00 15.25 15.50 15.75 0.0 0.2 0.4 0.6 0.8 1.

age




FrV trend

at each age

age=15 age=20
12.5 1 —}— FrOlavg —}— FrOlavg
FrO5avg 30 4 FrO5avg
10. 0 1
7.5 1
20
5.0
2.5 1 /\ 10 -
0.0
T T T T T T T T T
TO1 T02 TO3 T04 TO5 TO1 T02 TO3 T04
organlD organlD
age=25 age=30
100
60 - —}— FrOlavg —}— Fro0tlavg
FrO5avg FrO5avg
50 - 80
40 A
60 -
30 ~
20 4 40 A
10 -

T T
TO1 T02
organlD

T
T03

T T T
TO1 T02 T03
organlD

page 26



page 27

FrV: model

Est vs obsFrV at Q90

150 -

125 -

100

75 -

50 A

25 A

— 50
X FrO1_est
o Fr05 est

R

XX XBe X0

>

16

18

20

22

age

24

26

28

30




FrV: obsFrV vs obsFrV@Q90

100 +
— X
X FrO1_avg ‘
801 o Fr05 avg
60 -
40
20 -
page 28 0 -

16 18 20 22 24 26 28 30
age



organ|D=1

2] —4— dlavg
dlaavg
0_
81+
6 —
4 |
2_
0_ ________________________________
T T T T T T
15.0 17.5 20.0 22.5 25.0 27.5 30.0
age
organl|D=4
6_
—4— dlavg
4 dlaavg
2_
[
0_ ________________________________
2_
4_
15 16 17 18 19 20
age

FrV: D Fr1 FrV

organ|D=2
—4— dlavg
2.5 A dlaavg
2.0
1.5 -
1.0 1
0.5 -
Jpes . e
15.0 17.5 20.0 22.5 25.0 27.5 30.0
age
organ|D=5
—@— dlavg
0. 04 1 dlaavg
0. 02 A
0.00 f+——mrmm ]
—0. 02 -
~0. 04 -
-0.04 -0. 02 0.00 0.02 0.04

age

organ|D=3

—

dlavg
dlaavg

15.0

17.5

20.0

T
22.5
age

25.0

27.5

30

0

page 29

0.0

0.2

0.4

0.6

0.8

1.




P6AW FrV: D_Fri1_FrV

600 -

pcrDelta_avg
pcrDeltaAdj_avg

4

500 -

400 -

300 -

200 -

100

page 30 0

30 35 40 45 50 55 60



FrV: D _Ts_FrV

organ|D=1 organ|D=2 organ|D=3
1.75 - 10
—@— d2avg —4—  d2avg ' —4—  d2avg
0.04 + d2aavg | 1-90 d2aavg 0.8 - d2aavg
1.25
0.02 - | 0.6
1. 00 +
B e o e o e mae 0.4 -
0.75 4
n
—-0. 02 ~ 0.50 - | 0.2 ~
i 00 +Fm———t
0. 04 0.25
I o e e o o f ey Rt mo -0.2 -
-0.04 -0.02 0.00 0.02 0.04 15.0 17.5 20.0 22.5 25.0 27.5 30.0 15.0 17.5 20.0 22.5 25.0 27.5 30.0
age age age
organ|D=4 organl|D=5
1.0
0.4~ + d2avg 0.0 Fr=———r———— e = =
d2aavg 0.8 -
0.2 ~ -0.14
0.6+
0.0 fFw———mm e e e e =0.2 4
0.4 -
-0.2 + -0.3 1
—@— d2avg 0.2 1
-0.4 - -0. 4 1 d2aavg ® page 31
T T T T T T T T T T T T T 0 O T T T T
15 16 17 18 19 20 14.25 14.50 14.75 15.00 15.25 15.50 15.75 0.0 0.2 0.4 0.6 0.8 1.

age age



P6AW FrV: D Ts _FrV

1000 H
—4— pcrDelta_avg

800 - —}—  pcrDeltaAd] avg

600 -

400 -

200 -

page 32 (1) ——

30 35 40 45 50 55 60



FrV: D_Q50 FrV

organ|D=1 organl|D=2 organl|D=3
—4— d3avg
d3aavg
I e e e e e L.
T T T T T T T T T T T T T T T T T T T T T
15.0 17.5 20.0 22.5 25.0 27.5 30.0 15.0 17.5 20.0 22.5 25.0 27.5 30.0 15.0 17.5 20.0 22.5 25.0 27.5 30.0
age age age
organ|D=4 organl|D=5
1.0
1.2 4 ®
—@— d3avg
1.0 - d3aavg 0.8 -
0.8 A
0.6 4
0.6 -
0.4+
0.4+
0.2 0.2 1
0.0+t e e ————— page 33
T T T T T T T T T T T T T 0 0 T T T T
15 16 17 18 19 20 14.25 14.50 14.75 15.00 15.25 15.50 15.75 0.0 0.2 0.4 0.6 0.8 1.

age age



P6AW FrV: D_Q50_FrV

100 —4— pcrDelta_avg
—4—  pcrDeltaAdj avg

page 34

25 30 35 40 45 50 55 60



organ|D=1
) Fe====s====F============s====
—4— ddavg
5 - d4aavg
0 -
5 -
0 -
5 -
0 L T T T T T T T
15.0 17.5 20.0 22.5 25.0 27.5 30.0
age
organl|D=4
T O [ —
5 -
—4— ddavg
01 d4aavg
T
1
15 16 17 18 19 20

age

FrV: D _Est FrV
organ|D=2

—4— ddavg

d4aavg

22.5 25.0 27.5 30.0
age

organ|D=5

—@— ddavg
d4aavg

15.00 15.25 15.50 15.75

age

14.25 14.50 14.75

organl|D=3
3 O D AR B
—4— ddavg
d4aavg
15.0 17.5 20.0 22.5 25.0 27.5 30.0
age
4 -
2 -
page 35
0 T T T T
0.0 0.2 0.4 0.6 0.8 1.



P6AW FrV: D Est FrV

page 36 e O O 0 A S S OSSO IS
_20 _
_40 -
_60 -
—4$—  pcrDelta_avg
—4—  pcrDeltaAdj avg

40.0 42.5 45.0 47.5 50.0 52.5 55.0 57.5 60.0



P6AW FrV: sfDem

—@— sfDem

1. 50 A
1. 25 ~
I e e e
0.75 A

0. 50 -

page 37

30.0 32.5 35.0 37.5 40.0 42.5 45.0 47.5 50.0






page 39

12

- 20

I4O

14 -
16 -
18 -
20 -
22 -
24 -
26 -
28 -
30 -
32 -

34 -
36 -
38 -
40
42
44
46 -
48 -

50 -

52 -

54 -

56 —

58 -

60 —

62 -

©



